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o There are 38 questions in all. All questions are compulsory.

e Section A contains 20 questions of 1 mark each. These are objective type questions.

e Section B includes question from 21 to 29. These are very short answer type questions carrying 2 marks
each. Answer to each question should not exceed 30 words.

e Section Cincludes questions no. 30 to 35. They are short answer type questions carrying 4 marks each.
They should not exceed 80 words.

e Section D includes questions question no 36 to 38. They are long answer type questions carrying 6 marks
each. Answers to these questions should not exceed 200 words.

SECTION: A
................. was an English who has arranged to lease three villages by the river Hugli in order to set
up a trading port.
If capitalism became the economic dominant system. ................. became the dominant political
system.
Name 2 cities which de industrialised in the wake of British industrialisation.
Social Stratification is a system in which people are not ranked in a hierarchy. (true/false).
Name the sociologist whose writings that many villages all over India are becoming increasingly
subject to the impact of urban influences.
An economic system in which the means of production are privately owned and organised to
accumulate profit within a market system.
A resolution against the evils of the polygamy was proposed at the All India Muslim ladies conference
by Jahanara Shah Nawas.
In the regions of non sanskritic castes were dominant, it was their influence that was stronger. This
process can be termed as ..........
Which among this is leading journal for women in Punjab?
a) Anjuman E Khwatn E Islam
b) Tashib e | Niswan
Srinivas suggested that while the lower caste sought to be ............... and upper caste sought to be
An increasing decline in the influence of religion has been referred to as
a) Secularism
b) De Sanskritisation
c) Secularization
d) Communalism
State any on difference between sanskritisation and westernization?
When the government tries to sell its share in several public sector companies. It is known as
In the Kanpur textile mill, those who provided jobs were known as ........cccccccuvvnneeee.
Which theory of social movement believes that social conflict arises when a social group feels that it is
worse off than others around it.
Right to information campaign is an example of which kind of social movement?
Give 2 examples of dalit movement?
Concerns about ............... and ............. underlay the chipko movement.
What does AITUC stand for and when was it formed?
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One of the key issues that bind the tribal movements from different parts of the country is the
alienation of tribal forest land; true/false.
SECTION:B

Define urbanisation?
The impact of English language has been many sided and paradoxical in India? Give reasons.
What does the term modernity assumes?
Exemplify how sanskritisation is a gendered process?
What are the two important issues that gave rise to tribal movement?
In response to the harsh working conditions workers have expressed their angers through trade unions.
Differentiate between lockout and strike in the light of the above statement.

OR
According to Marx, what is alienation and alienation of labour?

what is the mass media expected to do in order to function as the “watchdog of the democracy”?

What do you understand by the idea of “Imagined Communities that Benedict Anderson wrote??

‘social movement also develop distinct modes of protest’ what are these?

SECTION C
Examine the arguments given by Dr. Ambedkar and Mahatma Gandhi for the inclusion of Panchayati
Raj in the constitution?
OR
What powers and responsibilities have been delegated to the panchayats?
Discuss the role and significance of Civil Societies in todays world?
“The more mechanised an industry gets, the fewer people are employed” justify the statement with
suitable examples.
What is the impact of liberalisation on television as a form of mass media?
Explain the changes that have been occurring in the newspaper industry?
OR

Highlight the potential of fm channels in the post liberalised India?
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There are many ways in which globalization affects culture. Elaborate
OR
Explain the economic policy of liberalisation?

SECTION D

Infer the reasons for the emergence of post fordism and the new international division of labour with
suitable example.
Define communalism. Highlight any four of its features and state how it’s a recurrent source of tension
and violence. Give suitable examples to substantiate your answer.
Over three lakh farmers have committed suicide in India since 1995. A majority of them were
concentrated in five major agricultural states: Maharashtra, Madhya Pradesh, Andhra Pradesh,
Karnataka and Chhattisgarh. Even Punjab recorded a high number of 449 farmer suicides in 2015. Next
only to Maharashtra farmer suicide have been steadily increasing over the years. On an average,
around 15400 farmers ended their lives each year between 1995 and 2003. This number increased to
more than 16000 between 2004 and 2012.

a) What do you understand by ‘ matrix event’?

b) How are they responsible for the farmer suicide?
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